Number of Events

O
Ul

1b4j1mu-1pmiss

Pythia_ref
Z0j] : 50%

tau-tau+jj :

50%

e
400

T R RV
500 600

sumPt (GeV)

L
700

I
800




Number of Events

O
Ul

1b4j1mu-1pmiss

Pythia_ref
Z0j] : 50%
tau-tau+j) : 50%

|65|

o
W p_ (GeV)

.75.




Number of Events

1b4j1mu-1pmiss

Pythia_ref
Z0j] : 50%
tau-tau+j) : 50%

.30.

| | |
40
13 p, (Gev)

.50.




Number of Events

O
Ul

1b4j1mu-1pmiss

Pythia_ref
Z0j] : 50%
tau-tau+j) : 50%

255

1
26

j4p_(GeV)

265




Number of Events

O
Ul

1b4j1mu-1pmiss

Pythia_ref
Z0j] : 50%
tau-tau+j) : 50%

ST I B
100 150

b p. (GeV)

S I R
200 250




Number of Events

O
Ul

1b4j1mu-1pmiss

Pythia_ref
Z0j] : 50%

tau-tau+j) : 50%

30

40
P (GeV)

50




Number of Events

O
Ul

1b4jlmu-1lpmiss - Pythia_ref

Z0j] : 50%
tau-tau+jj :

50%

| | | | | |
30 40
clusteredObjectsRecoll p. (GeV)

50




Number of Events

O
Ul

1b4j1mu-1pmiss

Pythia_ref

Z0j] : 50%

tau-tau+j) : 50%




Number of Events

O
Ul

1b4j1mu-1pmiss

Pythia_ref
Z0j] : 50%

tau-tau+j) : 50%




Number of Events

O
Ul

1b4j1mu-1pmiss

Pythia_ref
Z0j] : 50%

tau-tau+j) : 50%




Number of Events

O
Ul

1b4j1mu-1pmiss

Pythia_ref
Z0j] : 50%
tau-tau+j) : 50%




Number of Events

O
Ul

1b4j1mu-1pmiss

Pythia_ref
Z0j] : 50%

tau-tau+j) : 50%

15

b eta




Number of Events

O
Ul

1b4j1mu-1pmiss

Pythia_ref
Z0j] : 50%

tau-tau+j) : 50%

“250
M(W,j2) (GeV)

| | |
300




Number of Events

O
Ul

1b4j1mu-1pmiss

Pythia_ref
Z0j] : 50%

tau-tau+j) : 50%

| | |
300

R
400

N
500

M(W,j2,j4) (GeV)




Number of Events

O
Ul

1b4j1mu-1pmiss

Pythia_ref

Z0j] : 50%

tau-tau+j) : 50%

_ 1
400

_ 1
500

P AR P
600 700

M(W,)3,]4) (GeV)




Number of Events

O
Ul

1b4j1mu-1pmiss - Pythia_ref

Z0j] : 50%
tau-tau+j) : 50%

e
500

N T T R N RO SN SO SO Y N | RO
550 600 650
M(W.,j3,b) (GeV)




Number of Events

O
Ul

1b4j1mu-1pmiss

Pythia_ref
Z0j] : 50%
tau-tau+j) : 50%

1 1.5 2

25

Ag(u ,j1) (radians)




Number of Events

O
Ul

1b4j1mu-1pmiss - Pythia_ref

Z0j] : 50%
tau-tau+j) : 50%

1 2 3
A@(U ,j2) (radians)




Number of Events

O
Ul

1b4j1mu-1pmiss - Pythia_ref

Z0j] : 50%
tau-tau+j) : 50%

05

| N S N N NN T N |
1 1.5 2
Ag(u ,j3) (radians)




Number of Events

O
Ul

1b4j1mu-1pmiss - Pythia_ref

Z0j] : 50%
tau-tau+j) : 50%

15

| R T R SR | |
2 2.5 3
Ag(u ,b) (radians)




Number of Events

O
Ul

1b4j1mu-1pmiss

Pythia_ref

Z0j] : 50%

tau-tau+j) : 50%

| | | | | |
3 3.05
A@(1,]3) (radians)

3.1



Number of Events

O
Ul

1b4j1mu-1pmiss - Pythia_ref

Z0j] : 50%
tau-tau+j) : 50%

292

| | | | | | |
2.25 2.3
A@(1,b) (radians)




Number of Events

O
Ul

1b4j1mu-1pmiss - Pythia_ref

Z0j] : 50%
tau-tau+j) : 50%

| I T TR TR NN T S B |
1.5 2 2.5 3
AQ(2,]3) (radians)




Number of Events

O
Ul

1b4j1mu-1pmiss - Pythia_ref

Z0j] : 50%
tau-tau+j) : 50%

212
AQ(j2,b) (radians)




Number of Events

O
Ul

1b4j1mu-1pmiss - Pythia_ref

Z0j] : 50%
tau-tau+j) : 50%

| | | | | | |
1.015 1.02
A@(j3,b) (radians)




Number of Events

O
Ul

1b4j1mu-1pmiss - Pythia_ref

Z0j] : 50%
tau-tau+j) : 50%

05

| I R1 NN R B N R T N |
1 1.5 2
A@(j4,b) (radians)




Number of Events

O
Ul

1b4j1mu-1pmiss - Pythia_ref

Z0j] : 50%
tau-tau+j) : 50%

1

| | | | | |
1.5 2
A@(j4,pmiss) (radians)




Number of Events

O
Ul

1b4j1mu-1pmiss

Pythia_ref
Z0j] : 50%
tau-tau+j) : 50%

L
0.6

1
0.7

08

MINAPhI(],pmiss) (radians)




Number of Events

O
Ul

1b4j1mu-1pmiss

Pythia_ref
Z0j] : 50%
tau-tau+j) : 50%

MIiNAR(W ,j)

1III|1.5||||2|

25




Number of Events

O
Ul

1b4j1mu-1pmiss

Pythia_ref
Z0j] : 50%
tau-tau+j) : 50%

1.5
MINAR(],])




Number of Events

O
Ul

1b4j1mu-1pmiss

Pythia_ref
Z0j] : 50%

tau-tau+j) : 50%

._1.

0
L ¢ (radians)




Number of Events

O
Ul

1b4j1mu-1pmiss

Pythia_ref
Z0j] : 50%
tau-tau+j) : 50%

-1

0
j1o@(radians)




Number of Events

O
Ul

1b4j1mu-1pmiss - Pythia_ref

Z0j] : 50%
tau-tau+j) : 50%

15

| I RS T I BN SR R |
-1 -0.5 0
]4 ¢ (radians)




Number of Events

O
Ul

1b4j1mu-1pmiss

Pythia_ref
Z0j] : 50%
tau-tau+j) : 50%

2
b @ (radians)




Number of Events

O
Ul

1b4j1mu-1pmiss

Pythia_ref

Z0j] : 50%

tau-tau+j) : 50%

0
pmiss @ (radians)




Number of Events

O
Ul

1b4j1mu-1pmiss

Pythia_ref

Z0j] : 50%

tau-tau+j) : 50%

0 05

|1 detEta




Number of Events

O
Ul

1b4j1mu-1pmiss

Pythia_ref
Z0j] : 50%
tau-tau+j) : 50%




Number of Events

O
Ul

1b4j1mu-1pmiss

Pythia_ref
Z0j] : 50%

tau-tau+j) : 50%




Number of Events

O
Ul

1b4j1mu-1pmiss

Pythia_ref
Z0j] : 50%
tau-tau+j) : 50%




Number of Events

O
Ul

1b4j1mu-1pmiss

Pythia_ref
Z0j] : 50%

tau-tau+j) : 50%

| | |
1.5
b detEta




Number of Events

O
Ul

1b4j1mu-1pmiss

Pythia_ref
Z0j] : 50%

tau-tau+j) : 50%




Number of Events

O
Ul

1b4j1mu-1pmiss

Pythia_ref
Z0j] : 50%
tau-tau+j) : 50%

25

AR(W,j2)

35




Number of Events

O
Ul

1b4j1mu-1pmiss

Pythia_ref
Z0j] : 50%

tau-tau+j) : 50%

|28|

ARG j4)

3.2



Number of Events

O
Ul

1b4j1mu-1pmiss

Pythia_ref
Z0j] : 50%
tau-tau+j) : 50%

2.5

AR(H ,b)




Number of Events

O
Ul

1b4j1mu-1pmiss

Pythia_ref
Z0j] : 50%
tau-tau+j) : 50%

AR(j1,j4)

.25.




1b4j1mu-1pmiss - Pythia_ref

Z0j] : 50%
tau-tau+j) : 50%

Number of Events

24 26 28 3
AR(j1,b)




Number of Events

O
Ul

1b4j1mu-1pmiss

Pythia_ref
Z0j] : 50%
tau-tau+j) : 50%




Number of Events

O
Ul

1b4j1mu-1pmiss

Pythia_ref

Z0j] : 50%
tau-tau+j) : 50%

25

3 = 35
AR(j2,b)




Number of Events

O
Ul

1b4j1mu-1pmiss

Pythia_ref
Z0j] : 50%
tau-tau+j) : 50%

AR(]3,]4)




Number of Events

O
Ul

1b4j1mu-1pmiss

Pythia_ref

Z0j] : 50%

tau-tau+j) : 50%

AR(j3,b)

3 4




Number of Events

O
Ul

1b4j1mu-1pmiss

Pythia_ref
Z0j] : 50%
tau-tau+j) : 50%




Number of Events

O
Ul

1b4j1mu-1pmiss

Pythia_ref
Z0j] : 50%
tau-tau+j) : 50%

25
M(j1) (GeV)

30




Number of Events

O
Ul

1b4j1mu-1pmiss

Pythia_ref
Z0j] : 50%
tau-tau+j) : 50%

.15.

1
20

M(b) (GeV)

.25.




Number of Events

O
Ul

1b4j1mu-1pmiss

Pythia_ref

Z0j] : 50%

tau-tau+j) : 50%

105

11 11.5 12

minMass(j) (GeV)




Number of Events

O
Ul

1b4j1mu-1pmiss

Pythia_ref
Z0j] : 50%
tau-tau+j) : 50%

50

|
| 100
11p_ (GeV)




Number of Events

1b4j1mu-1pmiss

Pythia_ref

O
Ul
|

Z0j] : 50%

tau-tau+j) : 50%

.40. .

I T
50
j2p_ (GeV)

60 70




Number of Events

1b4j1mu-1pmiss

Pythia_ref

uncl P (GeV)

I Z0j] : 50%
: tau-tau+j) : 50%
2_
1_
| L 1 | I
91 0.5 0 0.5




Number of Events

O
Ul

1b4j1mu-1pmiss

Pythia_ref
Z0j] : 50%
tau-tau+j) : 50%




Number of Events

O
Ul

1b4j1mu-1pmiss

Pythia_ref
Z0j] : 50%
tau-tau+j) : 50%

1
150

200
M(W,j1) (GeV)

1
250




Number of Events

O
Ul

1b4j1mu-1pmiss

Pythia_ref

Z0j] : 50%

tau-tau+j) : 50%

I
300

| | | L | | |
400 500
M(W,j1,)2) (GeV)

T
600




Number of Events

O
Ul

1b4j1mu-1pmiss - Pythia_ref

Z0j] : 50%
tau-tau+j) : 50%

| | | L | | |
500 600
M(W,j1,)3) (GeV)




Number of Events

O
Ul

1b4j1mu-1pmiss

Pythia_ref
Z0j] : 50%
tau-tau+j) : 50%

1
250

I S
300

1
350

M(W,j1,j4) (GeV)




Number of Events

O
Ul

1b4j1mu-1pmiss

Pythia_ref

Z0j] : 50%
tau-tau+j) : 50%

I R
300

N S I R RIS EN S N NS R
400 500 600
M(W.j1,b) (GeV)




Number of Events

O
Ul

1b4j1mu-1pmiss - Pythia_ref

Z0j] : 50%
tau-tau+j) : 50%

| | | | | | L | | | | |
400 500 600
M(W,j2,)3) (GeV)




Number of Events

O
Ul

1b4j1mu-1pmiss - Pythia_ref

Z0j] : 50%
tau-tau+j) : 50%

| . | | |
400 600
M(W.j2,b) (GeV)




Number of Events

O
Ul

1b4j1mu-1pmiss

Pythia_ref
Z0j] : 50%
tau-tau+j) : 50%

S
200

| | | | | | | |
300 400
M(W,)3) (GeV)

A B
500 600



Number of Events

O
Ul

1b4j1mu-1pmiss

Pythia_ref
Z0j] : 50%
tau-tau+j) : 50%

N
180

| - | | | | | |
200 220
M(W,j4) (GeV)

L
240




Number of Events

O
Ul

1b4j1mu-1pmiss - Pythia_ref

Z0j] : 50%
tau-tau+j) : 50%

Ly
300

| | | | “| | |
400 500
M(W,j4,b) (GeV)




Number of Events

O
Ul

1b4j1mu-1pmiss

Pythia_ref
Z0j] : 50%
tau-tau+j) : 50%

R
200

300
M(W,b) (GeV)

R
400




Number of Events

0.5

1b4j1mu-1pmiss

Pythia_ref
Z0j] : 50%
tau-tau+j) : 50%

T B
900

I I T S T N I EER I AVER I | BT
1000 1100 1200

M(all) (GeV)




Number of Events

O
Ul

1b4j1mu-1pmiss

Pythia_ref

Z0j] : 50%

tau-tau+j) : 50%

40

I6OI

a0
W P (GeV)

I
100 120




Number of Events

O
Ul

1b4j1mu-1pmiss

Pythia_ref
Z0j] : 50%
tau-tau+j) : 50%

| | | | |
0 200
W pz (GeV)

R
400




Number of Events

O
Ul

1b4j1mu-1pmiss

Pythia_ref

Z0j] : 50%

tau-tau+j) : 50%

12

| | | N | | |
1.4 1.6
Ag(u ,j4) (radians)

1.8



Number of Events

O
Ul

1b4j1mu-1pmiss - Pythia_ref

Z0j] : 50%
tau-tau+j) : 50%

1 2
A@(L ,pmiss) (radians)




Number of Events

O
Ul

1b4j1mu-1pmiss - Pythia_ref

Z0j] : 50%
tau-tau+j) : 50%

| I R S R R T B B |
0 0.5 1 1.5
AQ(1,)2) (radians)




Number of Events

O
Ul

1b4j1mu-1pmiss

Pythia_ref
Z0j] : 50%
tau-tau+j) : 50%

0 1

2

AQ(1,j4) (radians)




Number of Events

O
Ul

1b4j1mu-1pmiss - Pythia_ref

Z0j] : 50%
tau-tau+j) : 50%

I R T R I S SRR |
1 1.5 2 2.5
A@(j1,pmiss) (radians)




Number of Events

O
Ul

1b4j1mu-1pmiss - Pythia_ref

Z0j] : 50%
tau-tau+j) : 50%

2 2.5
AQ(j2,j4) (radians)




Number of Events

O
Ul

1b4j1mu-1pmiss

Pythia_ref
Z0j] : 50%
tau-tau+j) : 50%

1 1.5 2

25

A@(2,pmiss) (radians)




Number of Events

O
Ul

1b4j1mu-1pm

iss +  Pythia_ref

Z0j] : 50%
tau-tau+j) : 50%

1

2 3
AQ(j3,j4) (radians)




Number of Events

1b4j1mu-1pmiss - Pythia_ref

Z0j] : 50%
tau-tau+j) : 50%

O
Ul
|

| | | | | | | | |
1 1.5 2
A@(3,pmiss) (radians)




Number of Events

O
Ul

1b4j1mu-1pmiss

Pythia_ref
Z0j] : 50%
tau-tau+j) : 50%

1

2

A@(b,pmiss) (radians)




Number of Events

O
Ul

1b4jlmu-1lpmiss - Pythia_ref

Z0j] : 50%
tau-tau+j) : 50%

| | | | |
2.4 2.6
maxAPhi(j,pmiss) (radians)




Number of Events

O
Ul

1b4j1mu-1pmiss

Pythia_ref
Z0j] : 50%
tau-tau+j) : 50%

]2

-
¢ (radians)

0




Number of Events

O
Ul

1b4j1mu-1pmiss

Pythia_ref
Z0j] : 50%
tau-tau+j) : 50%

0
|3 ¢ (radians)




Number of Events

O
Ul

1b4j1mu-1pmiss

Pythia_ref
Z0j] : 50%
tau-tau+j) : 50%




Number of Events

O
Ul

1b4j1mu-1pmiss

Pythia_ref
Z0j] : 50%
tau-tau+j) : 50%




Number of Events

O
Ul

1b4j1mu-1pmiss

Pythia_ref
Z0j] : 50%
tau-tau+j) : 50%

25

3
AR(1,2)

35




Number of Events

O
Ul

1b4j1mu-1pmiss

Pythia_ref
Z0j] : 50%

tau-tau+j) : 50%

| L | | |
4 4.5
AR(J1,3)

5.5



Number of Events

O
Ul

1b4j1mu-1pmiss

Pythia_ref
Z0j] : 50%
tau-tau+j) : 50%

AR(j2,j3)

3




Number of Events

O
Ul

1b4j1mu-1pmiss

Pythia_ref
Z0j] : 50%
tau-tau+j) : 50%

14
M(j2) (GeV)

16




Number of Events

O
Ul

1b4j1mu-1pmiss

Pythia_ref
Z0j] : 50%

tau-tau+jj :

50%

.11.

| 1|2 .
M(j3) (GeV)

.13.




Number of Events

O
Ul

1b4j1mu-1pmiss

Pythia_ref
Z0j] : 50%
tau-tau+j) : 50%

12 13

| 1|4 |
M(4) (GeV)

.15.




